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                      Determinants: An Overview- HW Problems 

 

In Problems 1-4 evaluate the following determinants. 

1.        |
   1 2
−3 4

|   

 

2.        |
2 1 5
0 3 2
0 0 4

|  

 

3.        |
3 −1 4
2 −2 3
1 −1 2

|  

 

4.        |

1 1    0 3
0 2    0 0
0
0

3
4

−2
   3

1
2

| 

 

5.    Which of the matrices in problems 1-4 are invertible? 

 

6.    Let 𝐴 = [
2 1 3
1 4 1
1 3 2

] 

a.     Find det(𝐴−1) without finding 𝐴−1. 

b.     Find det (𝐴𝑡) from det(𝐴). 
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7.    Let 𝐴 and 𝐵 be 3 × 3 matrices with det(𝐴) = 2 and det(𝐵) = −3.  

Find 

a.    det(𝐴𝐵) 

b.    det(2𝐵) 

c.    det(𝐴𝐵−1) 

d.    det(2𝐴𝐵)  


